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Properties of Logarithms
e each equation. Check your answer.
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Solve each equation or inequality. Round to four decimal places.
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Application

23) Felipe is saving money to take a vacation. He invests $800 at 6% interest compounded
monthly. Haw many years will it take for his investment to reach $1500?

10. O Years

24) William deposited $2200 at 8% interested compounded semiannually. When will the account

be worth $3810?
k( b&mfs

25) A fossil now contains 75 mg of Carbon 14. There were originally 125 mg of Carbon 14 in the
fossil. If the half-life of carbon is 5570 years, find the approximate age of the fossil to the

nearest year.
4105 GeoCs

26) Approximate the age of a bone that now contains 84 g of carbon 14 if it originally contained
192 g of that isotope. The half-life of carbon 14 is 5570 years. Round the answer to the
nearest 100 year.
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27) If the voltage output of an amplifier is 36 volts and its voltage voltage input is 0.9 volts,

what is the decibel voltage gain? ‘
L(o HONAY AK.C.\JC}_Q_Q:D
28) What is the decibel voltage gain of an amplifier with an output voltage of 50 volts and an

input voltage of 0.6 volts?
& A docdoddo
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Solve each equation or inequality. Round to four decimal places.
8) e*<5 9) e=4 10) 2eX-7=9 11) 3e*+2>11

X< \hs “‘3@(:. h‘\ ’-{ er‘:‘(p 3{?‘2 q

X_
NCANvLL { 0 [.00(5\? €'=13 Xz 3
- ! X = \(\3 \ |
- XzZ\nD
(x= t.oq;xe
12) In2x = 7 13) In(-3x) = 8 14) In (x+4) 15) W(x+3)=5
Nee o= o X3 =




Application

16) Phillip is saving money to take a vacation. He invests $900 at 7% interest compounded
quarterly. How many years will it take for his inves‘rme.n’r to reach $2500?
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17) James invests $4000 at 6.5% annual interest, compounded mom‘hly How long will it take to

this money to double in value? 2%t
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18) If $3000 is deposited at an annual rate of 5% compounded continuously, how long will it take
for the account to reach $6000? (you may use A = Pe")
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19) If the voltage output to an amplifier is 40 volts and its voltage input is 0.8 volts, what is the
decibel voltage gain?
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20) A skull if found at an archaeological site contains 200 mg of Carbon 14. The sample originally
contained 600 mg of that isotope. If the half life for Carbon 14 is 5570 years, find the

approxnmate age of the bone in the nearest 100 years.
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